-  If the annual U.S. inflation rate is expected to be 5% while the Italian lira is expected to depreciate against the U.S. dollar by 10%, an Italian firm importing from its U.S. parent can expect its lira costs for these imports to

A - Decrease by about 10%.
B - Decrease by about 5%.
C - Increase by about 5%.
D - Increase by about 16.6%.

A - Incorrect
Decrease by about 10%.This answer is incorrect as the number of lira needed will increase. See the correct answer for a full explanation.

B - Incorrect
Decrease by about 5%.This answer is incorrect as the number of lira needed will increase. See the correct answer for a full explanation.

C - Incorrect
Increase by about 5%.This answer fails to include the effect of the depreciation of the lira against the dollar.

D - Correct
Increase by about 16.6%.In this question there are two effects, both of which will increase the number of lira needed by the Italian importer. The 5% inflation rate will increase the number of lira needed by 5%. The 10% depreciation of the lira will require 10% more lira for each dollar – and the number of dollars has increased by 5%. The formula to calculate this is as follows: (1* 1.05) * 1 / (0.9) = 1.166, which is an increase of 16.6%.

- The purchasing-power parity exchange rate

A - Is a fixed (pegged) exchange rate.
B - Is always equal to the market exchange rate.
C - Results in an undervalued currency of countries that are net importers.
D - Holds constant the relative price levels in two countries when measured in a common currency.

A - Incorrect
Is a fixed (pegged) exchange rate. The purchasing power parity exchange rate is the rate that ensures that goods are sold at the same relative price in different countries. This rate is not fixed rate.

B - Incorrect
Is always equal to the market exchange rate. The purchasing power parity exchange rate is the rate that ensures that goods are sold at the same relative price in different countries. This rate does not always equal the market rate.

C - Incorrect
Results in an undervalued currency of countries that are net importers. The purchasing power parity exchange rate is the rate that ensures that goods are sold at the same relative price in different countries. This rate does not lead to undervalued currency in net importing countries.

D - Correct
holds constant the relative price levels in two countries when measured in a common currency. The purchasing power parity exchange rate is the rate that ensures that goods are sold at the same relative price in different countries. This means that if you are able to purchase something in country A for $20, you could take $20 to country B, exchange the $20 into the local currency and buy the same good in country B with the $20 you changed.
